
Division par 10⁻² (B)Trouvez chaque quotient.
9,2 ÷ 10⁻² = 3,775 ÷ 10⁻² =
5,149 ÷ 10⁻² = 1,7 ÷ 10⁻² =
7,8765 ÷ 10⁻² = 6,06 ÷ 10⁻² =
6,4 ÷ 10⁻² = 5,211 ÷ 10⁻² =
3,39 ÷ 10⁻² = 3,466 ÷ 10⁻² =
1,2 ÷ 10⁻² = 2,583 ÷ 10⁻² =
2,95 ÷ 10⁻² = 7,1 ÷ 10⁻² =
2,46 ÷ 10⁻² = 8,83 ÷ 10⁻² =
9,81 ÷ 10⁻² = 1,943 ÷ 10⁻² =
6,4 ÷ 10⁻² = 6,493 ÷ 10⁻² =
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Division par 10⁻² (B) SolutionsTrouvez chaque quotient.
9,2 ÷ 10⁻² = 920 3,775 ÷ 10⁻² = 377,5
5,149 ÷ 10⁻² = 514,9 1,7 ÷ 10⁻² = 170
7,8765 ÷ 10⁻² = 787,65 6,06 ÷ 10⁻² = 606
6,4 ÷ 10⁻² = 640 5,211 ÷ 10⁻² = 521,1
3,39 ÷ 10⁻² = 339 3,466 ÷ 10⁻² = 346,6
1,2 ÷ 10⁻² = 120 2,583 ÷ 10⁻² = 258,3
2,95 ÷ 10⁻² = 295 7,1 ÷ 10⁻² = 710
2,46 ÷ 10⁻² = 246 8,83 ÷ 10⁻² = 883
9,81 ÷ 10⁻² = 981 1,943 ÷ 10⁻² = 194,3
6,4 ÷ 10⁻² = 640 6,493 ÷ 10⁻² = 649,3
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